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(i)

() w57 A 8, 99 4 @ f uie & I |
Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) T T & G ST ) HHAR T T & B |
Solve all parts of a question consecutively together.
(iii) NeI% T F1 79 78 & IRET FHifrd |
Start each question on fresh page.
(iv) g uTaIT 7 SR g #1 1f § S G 8 A 8 |
Only English version is valid in case of difference in both the languages.

e # forewn #i I AT @ ?

Why is distortion produced in an amplifier ?
W Tt % THR TaH |

Mention different types of power amplifiers..

(i) WEhETSEA AYCE THITE |

@iv)

)

(ii)

Describe Barkhausen criterion.

o [ @ £, FN AR ?

What does f, fB and g denote ?
wgehiuaT o farfr= IRt S |

Mention applications of Multivibrators. (2x5)

CS et &1 Fr 3l T A.C. FHged JE ST s |
Draw and explain CS amplifier A.C. equivalent circuit at low frequency.
CD FET vat® % forg et smgfri w siieear wfey 3 fore =i g $ife |

Derive formula for voltage gain of a CD FET amplifier at low frequencies. (6x2)

(10f2) P.T.O.
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" Explain working of a Class B push — pull amplifier by drawing its circuit
diagram.
(ii) e Fdade IRUY i SR B THAEY |
Explain working of a phase inverter circuit. (6x2)
(i) mureass T wfagfe o smomers am wfagfe i gem =K |
Compare negative voltage feedback with negative current feedback.
(i) vati! 6 FasfEn w1 Ihl wfer T I HeE W IwE H FHeE |
Explain the effect of cascading of amplifier on their gain & bandwidth. (6x2)
(i) e Sfagfe sreremon %t faafaa #i
Describe positive feedback concept.
(i) U Hifeue Qiferd 1 Tres GRuY S 35! BRI Tusmsy |
~ Explain the working of Colpitt’s oscillator with the help of neat circuit diagram.
(6x2)
() TFeRfm & sue = awerd 2 7 T8 Fel 9gH a1 € ? FHHE |
What do you mean by bootstrapping ? Where is it used ? Explain.
(i) HIEHS Yatis TR 7 T |
- What is a cascade amplifier ? Explain. (6x2)
()  FwsHEr a e S sfafea § w2 s R 7 s afya s )
What is the difference between symmetrical and asymmetrical trigger ? Explain
with diagrams.
(i) e fom 6 srlsuneh =1 uftey smtE 6 wema 3 99 |
Explain the working of Schmitt Trigger with circuit diagram. (6x2)
fopedi @ w st feuferat ferfiay -
Write short notes on any two :
(i) I TR Heha I STEIIHAT
Need of time base signal
(i) IR I s
~ Astable blocking oscillator
(iii) . e gl Qe

Beat frequency oscillator (6x2)




